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1. Bill of Rights is related to which country? 1

(A) Japan
(B) Bntam
(C) America
(D) France

2. Who was the first Prime Minisier of Britain? 2.

(A) Sir Robert Walpole
(B) Cromwell

(C) Tony Blair

(D) Altlee

3. When did happens the glorious revolution in-+— 3.

Britain?
(A) I1215AD
(B) 1789 AD
(C) 1618 AD
(D) 1688 AD

4. “British Constitution 18 the child of wisdom 4.

and chance.” Whose statement is this?
(A) Laski
(B) J.5. Mill
(C) Lytton Stretchy
(D) Garner

5. “The king can do no wrong.” To which 8.

country is this statement related?
(A) Bntain
(B) Japan
(C) America
(D) France

6. The formal head of the executive in Britain 6.

is -
(A) Prime Minister
(B) King
(C) Cabinet
(D) Parliament

7.  “The British cabinet is the ship’s steward of 7.

state”. Whose statement is this?
(A) Dicey '
(B Lowell
(C) Laski
(D) Ramsay Muir
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The mother body of the British Cabinet is - 8. fafte wfmves o o= Hwer & -

8.
(A) <1E 991

(A) House of Lords

(B) Privy council (B) firdt ofReg
{C) House of commons (C) drawed
(D) Parliament (D) waz
9,  Who is the writer of the book “How Britain 9.  “How Britain is Coverned” LEGETD ¥ o
is Govemned™? B B2
(A) Chamberlain (A) AR
(B} Jennings B) SfF
(C) Ramsay Muir (©) I =R
(D) William Harcourt | M) Rfrw wae
10. The Upper House of the British Parliament 10. faf29 wqg &1 9o ¥e7 & -
is -
(A) House of Lords (A) s o
(B) House of Commons (B) wiwweT
(C) House of Representativcs {(Cy ufafAfe |
(D) Senate _ (D) e
11.  The number of members in the British House  11. ffesr &i@ |e # geon o g HulRa
of Commons is determined - o
(A) 543 _ - (A) 543
(B) 646 _ B) 646
(€) 252 | - _ (€) 252
(D) 435 D) 435
I2. In the Britain the money bill is first 12. fd29 § &7 fvros &) 9av ggar gega s
introduced in - e & -
(A} House of Commons (A) dApaeT
(B) House of Lords (B) oS 9 H
(D) Cabinet D) "fEosd ¥
13. How many Houses are in British Parliament?  13. fafew Wag  fa g9 &7
(A) 4 (A) 4
(B) 2 (B) 2
€ ! o €) 1
D) 3 (D) 3
14, Who presides over the House of Commons in 14, {337 ¥ @iewen & aegear @9 ol
Britain? 87
(A) Whips (A) wEOE
(B) Peer (B) dhx
(C) Lord Chancelior {(C) S arwae
(D) Speaker (D) wWiHw
(2136] Page 3ot 16
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15.  The minimum age to be elected as a member

- of House of Commons is -

15._aﬁmq$rmﬁaﬁﬂﬁﬁ"ﬁﬁ

(A) 30 years '_“E?‘:f ;}Hﬁﬁﬂfﬁﬁ £
(By 28 years B) 28 T4
(C) 21 years € 219
(D) 18 years D) 18 7
16.  Who called ‘Delegated Legislation’ as ‘New 16. 9ot &/@wmuT & g sfedare foa
Despotism’? w17
(A) Lowell (A) wieer 3
(B) Finer (B) Wz
(C) Laski (C) G
(D) Lord Hewart
(D) @ gad 7
17. One of the main features of the British 17. RR¥ = awwen @ vo e feee
Judicial system is - | R g
(A) Admipistrative Law (A) wIEfe BT
(B) Administrative Court ®) WrRT ey
(C) Jury System C Thwam
(D) Judicial Rgview I(D] T qfiee

18
the body of politic in Britain.”?
(A) Mackintosh
{B) Munro
(C} Jennings
(D) Finer
19. Britain’s oldest politicul party is -
(A) Labour Party
(B) Conservative Party
(C) Liberal Party
(D) Fascist Party

20.  The main feature of the British Party System 20,

18 -
(A) One party system
(B) Bi party system
(C) Multi-party system
(D} Independent system
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21. How many articles are the United Siates of 21,

America Constitution?
(A) 148
B) 72
(C) 7
n) 88
When did America get independence?
(A)Y 1776
(B) 1876
(€C) 1676
)y 1792
The main fcature of American Constitution -

22.

23,
(A} Rule of Law

(B) Plural executive
(C) Parliamentary sovcreignty
(D) Judicial supremacy
24. “We arc constantly drawing inspiration from
the invisible shadow of Montesquien.” whose

statement is this?
(A) Madison
(B) Washington
(C} Munro
(D) Finer
25. How many amendments have been made to
the American Constitution so far?
(A) 27
(B) 78
(C) 148
(D) 392
26. The system related to separation of power
18 -
(A) Unitary system
(B) Parlizmentary system
(C) Presidential system
(D) Dictatorship system
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27.

28.

29.

30,

31

32.

33.

[2136]

American President’s term is -
(A) 5 years
(B) 6 years
(C) 3 vears
(D) 4 yeurs
The executive power of the American
Federation is vested in -
(A) Senale
{B) House of Representatives
(C) Prime Minister
(D) President
The Lower House of the American Congress
18 -
(A)
(B)

House of Representatives
House of Loirds
(C) Senate
(D) Lok Sabha
The term of the Members of the Senate is -
(A) 4 years '
(B) 5years
(C) 6years
(D) 7 years
The name of the American Lﬁgrslamre is -
(A) Parliament
(B) Diet
(€C) Congress
(D) National Assembly -
The maximum number of times a person can
be elected Prcsident in America?
(A) 2
(B) 3
) 1
D) 4 .
The minimum age to be a candidale for a
Senate member in the America is -
(A) 25 years
{B) 21 years
{C) 30 years
(D) 35S years

27.
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30.

31.

32.

33.
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34. What is the number of members of the
American House ol Representatives?

{A) 535
(B) 435
(C) 543
m 335
35. The number of Judges in the US Suprene
Court is -
(A) 15
(B) 8
(C) 3l
™ 9
36. Whom is the third chamber of Congress
_calied n America?
(A) President
(B) Cabinet
(C) Senate
(D) Supreme Court

37. “The

judges say.”, whose statement is this?
(A) Justice Hughes

(B) Madison

{C) George Washington

(D) Bryce

38, Which party does US president Joe Biden
belong to -
(A) Republican party
(B) Democratic party
- (C) Liberal party
(D) Green party

39. Spoils system is related to which country?
(A) America
(B) Britain
(C) France

M) Japan

[2136)

Amencan people live under the
Constitution, but the Constitution is what the
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$0.

41.

42.

43.

44.

4s.

[2136]

The decision given in the Marbury vy
Madison dispute is related to -

(A) Gerrymandering

(B) The Rule of Law

(C) Senatorial Courtesy

(D) Judicial Review

“Switzerland is an island of peace in the sea
of turmoil.” Whose statement is this?

(A) Bryce

(B) John Brown Mason

(C) Huber

(D) C.F. Strong

Which country features plural executive?
(A)
(B)
(€)
(D)

Switzerland
America
Britain
France

How many semi cantons are in the Swiss
Federation?

(A) 8

B) o6

(C) 5

(D) 10 _

Since when was the suffrage granted to
women in Switzerland?

1976 AD
1931 AD
1950 AD
1971 AD

(A)
(B)
(<)
(D)

When did the present Constitution of
Switzerland came in to force?

2002 AD
1931 AD
1958 AD
1999 AD

(A)
(B)
(C)
(D)
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46.

47.

48.

49,

50.

51,

[2136]

‘President without power” the term is popular
for the president of which country?

(A) China

(B) Amcrica

(C) ShriLanka

(D) Switzerland

Who appoints the judges of the Supreme
Court in Switzerland?

(A) Federal Government

(B) Federal Parliament

(C) Swiss People

(D) President

The term of the Federal Govemment in
Switzerland is -

(A) 4 years

(B) 3 years

(C) OGyecars

D) 3 years
Which country is called “The home of the
direct democracy” in the present world?

(A) Britain

(B) Switzerland

(C) China

(D). America

Which country has adopted the instruments
of direct democracy like ‘Referendum’ and
‘Initiative’? -

(A) India

(B) Britain

(C) Switzerland

(D) America _
According to the Constitution of Japan,
Sovereignty is vested in -

(A) Emperor

(B)  Prime Minister

(C) Diet

(D) People
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52

53.

5.

[2136]

Which country is known as ‘Land of Rising
Sun'?

(A) Singapore

(B) Indonesia

(C) America

(D) Japan

Total articles in the Constitution of Japan
are -

(A) 103

(B) 203

(C) 148

D 92

Which form of government is found in
Japan?

(A) Federal

(B) Unitary

(C) Semi federal

(D) Presidential
What is the minimum age for voting in
Japan? .

(A)
(B)
(C) 20 years

(D) 22 years

Which Asian country adopted Parliamentary
form of Government at first?

(A) China

(B) Japan

(C) Shn Lanka

(D) Pakistan

21 years
18 years

According to the Constitution of Japan, who
appoints the Prime Minister?

(A) Emperor

(B) Cabinet

(C) Diet

(D) People

52.

53.
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58, “In Japan, Prime Minister is more durable

than their cabinet”. Who said this?
(A} Munro
(8) Ward and Macridis

(C) Finer
(D) Gatner

59, According to the present constitution of
Japan, the executive powers are vested in -

(A) Cabinet

(B) Emperor

{C) Diet

(D) Chief Secretary

60. In which article the office of the Prime
Minister is mentioned in the Constitution of

Japan?
(A) Article 82
{B) Article 87
(C) Asticle 92
(D) Article 66

61. Who s the head of the Cabinet in Japan?.

(A) President
{B) Emperor
(C) Prime Minister
(D) Speaker of Diet

62. How many houses are Lhere in lhc Japanese

Diet?
Ay 2
(B) 4
() 1
D)y 3

- 63, What is the name of the LUWEIIHDUSQ of

Japunese Diet?
(A) House of Councillors
(B) Senate
(€)' House of Commons
(D) House of Representatives
64.

Representatives in Japan?
(A) S years
(B) 4 years
(C) 6 years
(D) 7 years
(2136

What is the term of the House of

58.

59,

60.

61.

62.

63.

64.
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65. How many seats are there in the House of 5. o= §  99@g W& § fead We

Councillors in Japan? g7
(A) 252 (A) 252
B) 152 (B) 152
(C) 352 (C) 352
(D) 275 (D) 275
66. What is the (cnure of the House of 66. W¥I¥G W& (Arfe wHi) &1 @ © ~
Councillors in Japan?
(A) Svyears (A) a—&
(B) 3 years (B) 3949
(C) 6 vears (C) 64
(D) 4 years (D) 4ad
67. Which political right do citizens of Japan 67. ST & AFRS @ PFT F IAACD
have? IpR e &2
(A) Suffrage (A) HaTRIHR
(B) Right to Petition (B) aif¥apt woiq &1 AR
(C) Right to Compensation (C) =Ryl &1 afiprR
(D) All of the above ) G'!Téﬁﬁ T

68. In which article of the Constittion of Japan, 68. UM @ WRWM & fFw Fgede 4 »M &

Right to Work is mentioned? ATPR FT Ieold 27
(A) Article 20 o (A) 3Irgese 20
(B) Article 26 S B) ITWT 26
(C) Article 27 (C) mw;{ 27
(D) Article 29 M) \'ﬂﬂa}?{ 29
69. When was the Komeito Party formed? 69. Fif@r ardl or TS F A7
(A) 1963 AD _ - (A) 1963 &
(B) 1955AD (B) 1955 %
(C) 1960 AD (©) 1960
D) 1973 AD D 1973 ¥
70. Which political party was founded at firstin 70, W9 ¥ ®4Q B 59 qa@ @ w®gAr
Japan? 344
(A) Democratic Socialist Party (A) SNFAyF WAoo
(B) Liberal Party B) fiavad ot
(C) Communist Party (C) |Puard T
(D) Komeito Party (@) FfRY o
71. When did thc Constitution of the Fifth 71. Wig # 999 oGS &1 Givg- oy AN goT?
Republic came into force in France? )
(A) 1948 AD (A) 19483
(B) 1936 AD M) 1936 ¢
(C) 1858 AD (C) 1858 &
(D) 1958 AD (D) 1958 §.
[2136] Page 12 of 16
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72. Who was the lirst President of the Fifth 72. wig % UgH IGH F yem ey B

Republic in France? 977
(A) De Gaulle (A) T ita
(B) Mitterrand
{C) Barbu gg; %ﬁm
(D) Lecanuet ‘ (D) e
73. The number of members of the Senate in 73, Wi 4 WHe Ty g feat Afeg
France has been fixed - @ g R
(A} 252 | (A) 252
B) 100 (B) 100
(€ 230 | (C) 230
(D) 330 (D) 330
74. Which constitution is known as “Child of 74, “WFePrm wr R e <o & wfum #
Crisis™? HET T &7
(A) Japan (A) U=
(B) ;-mcn'ca (B) R
(C) France '
(D) China : g;]) ;ﬁmj _
75.  When did French Revolution happen? 75. W B! Hifd FY €47
(A) 1688 AD (A) 1688 &
(B) 1789AD | - (B) 1789 &,
(C) 1949 AD (C) 1949 €.
(D) 1589 AD | (D) 1589 ¥
76. What is the tenure of the President of France? 76. 15/ ¥ ALY F prEerT & —
(A) 4 years - (A) 4 9¢
(B) 2 years | B) 29y
(C) 6years - (© 674
(D) 5 years (D) 5af
77. How many times De Gaulle was elected 77, @ e fadt an wig & weuft falfg
French President? gy’
(A) 3 | . (A) dF IR
(B) 1 : (B) T IR
© 2 | . (C) TR
D) 4 ' (D) d9R IR
78. Who has the power to dissolve the National 78, 1T & I 1 &Y 47 &0 2 Tk Fby
Assembly in Franee? U &7
(A) Prime Minister ' (A) YuTE
(B) President (B) TRy
(C) Speaker (C) Wex
(D) Sabhapati (D) TRy
79. Who appoints the Prime Minister of France? 79, %9 & yomma) &t frgfea w1 @var 27
(A) National Assembly (A) Y W
(B) Cabinet B) sy
(C) President (C) Irofy
(D) Senate D) HEe
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80.

81.

82,

83.

54.

85,

86.

[2136]

When did the France adopl direct election
method for President’s election”?

(A) 1958 AD

(B) 1960 AD

(C) 1965 AD

(D) 1962 AD

Council of Ministers in France is responsible
(o -

(A)  Prime Minister

(B}  Nationul Assembly

(C)  Senate

(1)) Parliament
Which is the popular House of French
Parliament?

(A) National Assembly

(B) Secnate

(C) House of Commons

(D)} Lok Sabha

What is the tenure of French Senate?
(A} 4 years .
(B) 6 years
(C) 5 years
(D) 7 yeurs
In which house money bill is introduced at
first in France?
(A) ' National Assembly
(B) Lok Sabha
(C) Senate
(D) Rajya Sabha
What is the name of the Second House of
French Parliament?
(A) Senate
(B) National Assembly
(C) House of Lords
(D) Rajya Sabha
In which country the Judiciary is considered
an administrative organ?
(A) Britain
(B) India
(C) France
(D) America

80.

81.

82.

84,

8S.

86,
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(A) 1958 &

(B) 1960 %,
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(A) e
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(B) ¥me

(C) &NF wed
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(A) 4 79

(B) 6 ad

(C) 573§

M) 7
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fam siien 87

(A) iR oy &

(B) clrerwHr ¥

(© dmed

D) e
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(A) e

(B) <TS{R W

(C) ons sy

D) g gar
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(A) fres

B) wrE

(C) wig

(D) MR®r
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Who is the Chairperson of the Council of the
state of France?

(A} Prime Minister
{B) President

(C) Minister of Justice
(I Home Minister

One of the main feature of the French Party
System - '

(A) Bi Party System
(B) Multi-Party System
(C) One Party System
(D) Independent

When did socialist party established in
France?

(A) 1805 AD

(B) 1900 AD

(C) 1950 AD

(D) 1905 AD
At present, how many members are there in
the National Assembly of France?

(A) 477

(B) 517

(C) 2717

D) 377
The Napoleonic Code is said to be the basis
of the Judicial system of which country?

(A) Japan

(B) Britain

(C) America

(D) France

The writer of the book “The Spirit of Laws™

is-

Washington
Madison

(C) Montesquieu
(D} Lincoln

Which country is known as “The Mother of
Parliamentary System™?

(A) America

(B) France

(C) India

(D) PBritain

(A)
(B)
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(A)  WHFHE)

(B) Ingofy

(C) =myh

(m T8 5

WY B Tt aqven &1 @ Ha o

(C) & gefiy arwen

D) frdey

W GIardt 37 @ YT By 44
(A) 1805%.

(B). 1900%.

(C) 1950%.

M) 1905%.

W F wia I W e e @)
W fuife & -

(A) 477

B) 577

© 277

D) 377

R e o G —

F AR BB AT 87

(A) wmH

B) A

(C) AR

(D) wiE
“The Spirit of Laws” (& RaRe i <fa)
TRE D aawd & -

(A) afres

B) ¥

(C) wiRtway

(D) foiws

WEH AN R A WA b 2w 3
HET ATaT B?

(A) R

(B) W

(€) ¥rw
D) =



kYT YT

9.

95.

96.

97.

98.

99.

How many states did the American
federation initially consist of?

(A) 28

(B)y 13

(C) 50

(D) 42

Which country is an example of limited
monarchy?

(A) Britain

{B) Amerca

(C) India

(D) France

In which country, residuary powers are given
to states?

(A) India

(B) Britain

(C) America

(D) Japan

Total number of members in American
senate is - '
(A) 100

(B) 235

(Cy 247

Dy 150

Which country has separate Consutution of
Federal units?

(A) Britain

(B) France

(C) Japan

(D) America

Doctrine of implied powers 1is the
characteristic of the federal system of which
country?

(A) America

(B) Japan

(C) France

(D) Switzerland

100. Which body ratifies treaties in America?

[2136]

(A) House of Representatives
(B) Supreme Court

(C) Foreign Secretary

(D) Senate

9.

95.

96.

98.

99.
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(A) 28

(B) 13

(C) 50

(D) 42

WG TAAITS AR BT IATERT DA
QY 87 '

(A) facs

B) IAR®

(C) ¥rd

(D) wi"g

W ﬁﬁT ﬁ IR Elﬁfm]— QT‘Uﬁ 'CT?-T T‘ﬂ ’T‘&F
82

(A) WG

(B) feH

(C) R

(D) SIa

sPReT dFe. #§ TEl B @ Wl
feiRe & — '

(A) 100

(B) 235

(C) 247

D) 150 :

b 29 # WY P THEAT B YAS Gl
14

(A) faeA

(B) Wi

(C) <muE

D) zARST
T geerr @1 fadwar g7

(A) SmfR®r

(B) S

(C) wHE

D) fRacerelus

100. =ReT 7 |G 3 I 59 wer grT &)

ST 27

- (A)  Tfafafer T

(B) o <A
(C) facw wfew
(D) HA=c
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